762 + 60 = 5 6008 +

6189

4x6= 6| 97.7+02=

4181-100 = 7| = + 2 =

40 + 8 = 8| -15 -5=




9| 8x6x7= 13| 70x60 =
10| 360 - 250 = 14| 62-15 =
1| 5 - £ = 15| 337x9 =
12| 64.48 x 100 = 16| 35000 =7 =




17| 0.6 x 2000 = 21| 8233x4=
18| 80% x 400 = 22| 62656 - 5159 =
19| &+ x200= 23| —>-x3=
20| 91.972+7.53= 24| 7.48x6=




25| 630 -98.93 = 28| 93% of 420 =

26| 27.42+6= 29| 9416+ 12=
1 2|9 416

27| 93x379= 30] 3 x & =

w ©




5 7 _ 5 4 _
3| 4> + L = 34| o * 5 =
32| 4127 x41= 35| = + 2 =

4127

X 4 1

33| (9+39)+6-8= 36| 5529+90 =

90|5529




Answers
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762 + 60 =

4x6=

4181 -100 =
40+ 8 =
6008+ = =6189
97.7 + 0.2 =
3/6 + 2/6 =
-15 -5 =
8X6x7=
360 - 250 =
11/15 - 8/15 =
64.48 x 100 =
70x 60 =
62-15 =
337 x9
35000 +
0.6 x 200
80% x 40

7
0
0

822
24
4081

181
97.9
5/6
-20
336
110
1/5
6448
4200
21
3033
5000
1200
320

5/

3 /15

19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36

4/5 of 200 =
91972+ 753 =
8233 x4 =
62656 - 5159 =

510 x 3 =
748 x6 =

630 -98.93 =
2742 +6 =

93 x 379 =

93% of 420 =
9416 + 12 =

3/7 x 5/8 =
45/6+7/9=
4127 x 41 =
(9+39)+6-8=
5/9 + 4/8 =

416 + 2 =

5529 + 90 =

160
99.502
32932
57497
1 12
44.88
531.07
4.57
35247
390.6
784 2/3
15/56
5 11/18
169207

0
11118

173

61 13/30

15 / 10

76 | 72
or 4 /12



